


Y&g  = -I3 (-3)
-3 6
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Y = -fx  + $

33









MA 113 37.











@i%ldlJ  1.5.9 Iii C(x) = 100 + 6x + 0.01~~ ri'lu~J~~u~oJc;l'l~~lu~Unlrut~~Uhl

,da x wiau ~ulUn?luiliilt~l2ioJnl~~~~~u~l  x MlhJ 3r~aJrlUfil'l~hl

~JMUWiln'u  C(x) Uln  ;d 1.5.8 ~an5lVhaJflJhh C(x)

C(X)  ~an’i22Tj7utuni5ut&l~~~i  x M~~XJ

c(x + 1)  ~aFiiZ~~iul,ni,uB~R^ucr7  x + i d-z

M s(x) = c(x  + 1) - C(x)

= [lo0  + 6(x + 1) + 0.01(x+1)'] - [lo0  + 6x + 0.01x2]

= (100  + 6x + 6 + 0.01x2 + 0.02~ + 0.01) - (100 + 6x + O.O$)

=  0.02x  +  6 . 0 1
c

0.02x + 6.01 7JlVl t~u~i2~;jiu’ltaniser~,QprApsndaufl  101 ZhC4rtilib
S(100) = 0.02(100)  +  6 . 0 1  = 8 . 0 1

a3iazaTun  S(lO0) ?'I  marginal cost WLIJE~U~~M~~~U~  101
c

CJiXU  S(x)  Aa marginalcost ?laJt?Uh7Md2Ui  x + 1
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y-y) =  ;+-  ( x - x , )
2 I

P  - ~500 =  zz!!?  (x _ 0)
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